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Part 4 Work Bundle
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Part 4 Lesson 1 the Mole and Molar Mass

Mole (mol): A standard scientfific unit for measuring large quantities of enfities
such as atoms.
1 mol =
Mole: The number of atoms determined to be found in 12 grams of . Also
called Avogadro’s number
How many atoms are in a mole?
Write in long hand
The number of atoms in a mole is the for all substances.
It is the molecular weight of that substance in grams.
Please complete the following during the slideshow Part 4 about molar mass.
What is the molar mass of What is the molar mass of What is the molar mass of

NaOH? NH42 SO2¢

Part 4 Lesson 2 Molar Conversions -Complete the notes below as described in the slideshow.

Aorrs Mas  Groms

or Mo\ecoles




Convert from moles to atoms, the molar amount by Avogadro's number.

Convert from atoms to moles, the atom amount by Avogadro's number

Please convert from grams to moles below

1 mole of water
100g of water x = mole of water
gram of water

Please convert from moles to grams below

g of 02
6 moles of O2 x = g of O2
1 mole of O2

If a scientist wants to know how many atoms are in six moles of sodium...

6.02 x 10
6 moles x = x 10* atoms of Na
1 mole

What's the molecular mass of NasPOa?

3(____g/mol)+31g/mol+4(___ g/mol) =

How many atoms are in 6.2 moles of Al?

atoms Al
6.2 moles of Al x = x 104
1 mole Al

How many atoms are in 3.5 moles of Tin (Sn)?

atoms Sn
Mols Sn x = x 102
1 mol Sn
How many moles are in 90 grams of NaOH? NaOH 1 mol = grams
1 mole
grams NaOH x = mol NaOH

grams




How many mols are in 10 grams of Nickel? Find molar mass of Ni

1 mol Ni
g Ni x = mol Ni

How many atoms are in .17 mol of Ni?

atoms of Ni

mol Ni x x 102 atoms Ni

Tmol Ni

Calculate the number of moles in 40 g of CO (carbon monoxide)?
Molar mass of CO =12.01 + 16.0 = g/mol

Mole
gram of CO x = moles
grams

How many grams are in 1.25 moles of Neon gas?
Neon has molar mass of ag/mol.

grams
moles Ne x = grams
mole

Convert 3 moles of As2S3 to grams. Molar Mass of As2S3 is g/mol

g As233
__mol As2S3 x = g As2S3
mol As2S3

« Converting from mass (grams) to moles: your initial mass by the
mass of the compound as determined by the periodic table.
« Converting from moles to mass (grams): your initial mole value by
the of the compound as determined by the periodic table.
« Converting from volume (liters) to moles: Divide your initial volume by the molar
volume constant, 22.4 L.
« Converting from moles to volume (liters): Multiply your mole value by the molar volume
constant, 22.4L.
« Converting from particles (atoms, molecules, or formula units) to moles:
your particle value by number,
« Converting from moles to particles (atoms, molecules, or formula um’rs)
your mole value by number, 6.02x1023,




Part 4 Lesson 3 Subscripts and Coefficients

Coefficients tell us the number of

. (The number of Moles)

Subscripts tell us how many
Subscripts of are

or ions there are within a compound.
written — they're understood.

Which are the subscriptse And which are the coefficients below?e

H+ 02— 2 H20

How many hydrogen atoms are in hydrogen

peroxide?
H-O:>

How many hydrogen atoms are in 2
hydrogen peroxide?

How many elements are in the molecule
below? Name each one?

How many hydrogen, Chlorine, and Oxygen
atoms are in 4HCIO42




How many elements are in 2AI2(SO4)3 ¢

SC
2A12(S04)s
How many Aluminum, Sulfur, and Oxygen atoms are in 2AI2(SO4)3 ¢

2A12(S04)s

O OR.‘?\I-Q- +A!_,.F~O O O# O\.fi"’gl*. +A|fo \O
O___0O O___0O
0*=>30 07° =0

How many total atoms and atoms of each element are in the molecules below. Hint-the
total atoms and atoms of each element when added together need to be the same. Law
Conservation of Matter!

2KCIOs3 Total Atoms= K= Cl= O=
6H20 Total Atoms= O= H=

4Al1,03 Total Atoms= Al= O=

2CeHsOr Total Atoms= C= H= O=
6NasCsHs0O7 | Total Atoms= Na= C= H= O=
3CCl4 Total Atoms= C= Cl=

12HNO:3 Total Atoms= N= H= O=




Be proactive and work in your journal in real time to get the answers. These are hard.
— https://www.youtube.com/watch2v=PQamMsq79F0

Please view the video for assistance on the first four questions and then you're on your own
for 6-10.

m # of Total Atoms | Atoms of each Element

8H:0

3CCls C- Cl=

11Be(OH). Be= 0= H=

5 (NHe)3 PO N= H= P= 0=
H:S0: H= 5= 0=

Si(HCO): Si- H= 0= 0=
N(COR) Al= 0= 0

2HNO H- N= 0=

KMnO: K= M= O

K:SOx K= S= 0-
THPO: P H: 0

4Na.COs Na= C= 0=



https://www.youtube.com/watch?v=PQamMsq79F0

#of Total | Atoms of each Element
Atoms

5AGNO:

Ni(CH:CO2)
INHNO>
004(SO1)s
ALICIONH:
ISF;
NChFe(CHCOz)
5NaHCO:

2 Carbon
Tetrachloride

2Ag.CrO;
Y2 P20s

A N 0=
Ni= C= 0= H=
N= 0= H=
Q- C= 0=

N C= Fe= C= 0= H-

C= Cl=
Ag= Cr= 0=
P= 0=

8




Part 4 Lesson 4 Balancing Chemical Equations

Chemical Change: The change of substances into other substances through a
of the atoms.

Balancing Chemical Equations.
This is what happens in a chemical

It describes what you with...and with.
It also describes the of each (s) (I) (9)
It also describes the of each.

Balancing a chemical equation refers to establishing the mathematical relationship between
the quantity of and

Which are the reactants? And which are the products?

_ 8 2
S ST

CH4 -+ 202 — COZ —+ 2H20

In any physical or chemical change, matter is neither nor
Matter can be changed from one form to another.
That means we need to have the same amount of chemicals on each
side of the .
For this reason, put a square around the chemical formulas.

NaOH +

Begin balancing chemical equations by putting numbers (coefficients) in front of them.
Example H20 on one side could become 2H20
Remember that each side needs to have same number of Hydrogen and
Oxygen
Note — Don't change the subscript
Example H20 becomes HzO
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Please use the provided spaces to balance the chemical equations covered in class.

We'll end up doing this first one twice @)

NaOH + H,50,= Na,S0;+ H,0 |NaOH + H,S0,=> Na,S0,+ H,0
Element | Before || After Element | Before || After
Na Na
0 0
H H
S S
CHa 024> CO2+| HO| | — NaCll+|  BeF2--x{  NaF|{ BeCl
Element | Before [ After Element | el | AT
Na
- Cl
L Be
0 F

An easy one...¢

_ Mg+ _Mm0O3-->_MgO+ _Mn
~___Nao +_ Cl > _ NaCl

Element | Before | After
Mg
Mn
0

Why?
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Please try and balance these two unbalanced chemical equations.

H2+ O2->  H20 A+ _Cl2> __ AICI3
Element Before After Element Before After
Element Before After Element Before After

| i—
CO:2 + H20 = CeH1206 + 02
Element Before After
C
H
O

s
CsH1206 + __ O2 = Released energy + __ CO2 + _ H20

Element Before After
C

H
O




Please try and balance these two unbalanced chemical equations.

12

N, + H, 2> NH3 H, + 0, = H-0
Element Before After Element Before After
Element Before After Element Before After

~_Na+_  H)O-> NaOH+ Hp

__KCIOs> __KCl+___ 0

Element

Before

After

Element

Before

After

Element

Before

After

Element

Before

After

__NaCl+ _F>->_NaF+_Cl

Al+ 0 2 AlO3

Al +

HCl=> __ AICIB+__ H2

~_ _ NH4NO3 > N2+

__H20
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CosHL OS5 +

Agl + Fez(CO3)3 —> Fels +

Ag>CO3

O > CO5s + H->O

ZNSO, + LioCO3;3 > ZNCO3 + LioSO,4

V2>Os +

Cas —> CaO + V>S5

Mn(NOs)> + BeCl, > Be(NO2)s> + MnCls

Sg + O-

Fe + AgNO3 > Fe(NO3)s +

H>SO, +

—> SO,

AgBr + GaPO, > AgsPO,4 + GaBrs

B(OH)s; =2 Bo(S0O,4)s + H>0O

Ag

AlBrs +

K —>

KBr + A

FeO +

Pa + Br> >

PBF3

LiCl +

Bro- —>

| PbBr: +

HCI

CoBrs +

NazsP +

Mn +

LiBr + Clz

CcasO4 — CaBr-> +

|
PdF> >| |[FeFz +| |PdO

—> HBr + PbCl-

Co2(S04)3

Hl —>

| LisPO.L +

H> + NMnlis

CaF> +

LioSO4 —> casO, +

NaBr —> NazsPO,4 +

CaFz> —> NaF + CasP->

LiBr

LiF
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PC]FT 4 ReV|eW GCIme Name:
1-10 = 10 pts *=Bonus + 1 pt, Lesson 8 Due: Today
(Secretly write owl in correct space +1 pt) Score /100
Final Question = 5 pt wager
THE SCRIPT THE MORE YOU BALANCNING BLANK STARE NAME THAT
KEEPER KNOW ACT COMPOUND
" Brecch.
1) 6) 1) 16) *21)
2) 7) 12) 17) *22)
3) 8) 13) 18) *23)
4) 9) 14) 19) *24)
5) 10) 15) 20) *25)

Final Question Wager /5 Answer:
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Name:

Part 4 Work Bundle

Due Date:

hykogen

hetum

1 2
H He
10079 40076
Ithium beryllm boon carbon nitrogen oxygen [T neon
3 4 5 6 7 8 9 10
Li | Be B{C|{N|O|F]|Ne
6,941 9072 10,811 12.011 14.007 15,999 18,998 20,180
sodam | magnesum dumnium slicon | phosphorus | sulfur chioning oo
1 12 13 14 15 16 17 18
Na | Mg Al|Si|P| S |Cl|Ar
72,950 24,305 76,967 7005 304974 32 065 35453 29,948
polassium | eaddum seandum | tlanum | vanadium | chromium | manganess Iron cobalt nlckeal ooppar me Qalum | germanium | arsenic selanium broming kryplon
19 20 Al 22 23 24 25 26 21 28 29 30 3 32 33 34 35 36
K |Ca Sc|{Ti|V|Cr|{Mn|Fe|Co|Ni|[Cu|Zn|Ga|Ge|As|Se|Br|Kr
19,098 40,078 44.566 A7.867 50,42 51,906 54908 | 65045 | 50933 | 5BE93 | 63546 £5.19 63723 12,61 74.922 78.95 79.904 82,60
mtdiom | stontum yitdum zroonum | mobum [ melybdsnum| technabum | rutheaium | odm | palladim sihver cadmium ndum fin antimony | telurum Joding xEnon
37 38 39 40 # 42 43 44 45 46 47 48 49 50 51 52 53 54
Rb| Sr Y |Zr (Nb|Mo|Tc|Ru|Rh|Pd|Ag|Cd|In|Sn|Sh|Te| | |Xe
85468 87,62 88906 | 91224 | 92006 95,84 [ag] 10107 | 10291 10642 | 10787 | 11241 11482 | 11871 12176 | 12760 | 1269 | 131.29
Caeshm barium lutatium hiatnwm | tantabm | tungsten | thenum | osmium Indium palium ok Marcury {hallhm lead bismuth | polonmm | - astating fadon
55 56 571.70 n 12 73 4 15 76 11 8 79 80 81 82 83 84 85 86
Cs|Ba| * [Lu|Hf {[Ta| W |[Re|[Os| Ir | Pt [Au{Hg| Tl |Pb| Bi [ Po| At |Rn
132.91 137.33 174.97 178.49 180.95 183,84 125,21 190.23 192.22 195.08 196,97 200,59 204,38 201.2 208,98 |20 214 [222]
francium rardium lawrencum frutherfordmd  duenim | seaborgium | behrum [ hassium | meaitnenum | usannilom | uueonim | unurklum wnunquadum
87 88 | 89102 | 103 104 105 106 107 108 109 10 111 12 114
Fr{Ra|**| Lr | Rf [ Db|Sg|Bh|Hs | Mt c::cccc%_ Uug
1223 1228 |262] [261] [262] 126§ 1264] |59 |266] 12i1] [272) [271] |28
fantharum | cerum  [peaseodymived neodymium | promethium | samadum | ewopum | gadolinum | terbum | dysprosium | holmbim eblum tum | yteebium
“Lanthanide series 57 58 59 60 61 62 63 64 65 66 67 68 69 70
La|Ce| Pr|Nd{Pm|Sm|Eu|Gd|Th|Dy|Ho|Er|Tm|Yb
123891 14042 140.91 144.24 [144 150,56 151.% 167,26 158,93 162.50 164.03 167.26 168.93 173.04
actniom [ horom [ peolactinum]  uraniom | nepluniom | phoaien | amorcum | curam | berkelum | cabormiam | einstenivm | fermivm Jmenddeviim]  pebeliom
“*Actinide series | 8 | 9% | o 2 | 93 | o4 | 95 | 9 | or | 98 | 99 [ 100 | 101 | 102
Ac|Th|{Pa| U [Np|Pu|[Am|Cm|Bk| Cf|Es|Fm|Md|No
[221) 23204 231.04 236.03 [237] [244) [243 |247] [247) [254] [252] {25]] 1258 254
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Part 4 Lesson 1 the Mole and Molar Mass

Mole (mol): A standard scientific unit for measuring large quantities of small entities such as
atoms.
1 mol =6.02 x 1023

Mole: The number of atoms determined to be found in 12 grams of Carbon-12. Also called
Avogadro’s number

How many atoms are in a mole?
Write in long hand 602 000 000 000 000 000 000 000

The number of atoms in a mole is the same for all substances.
It is the molecular weight of that substance in grams.

Please complete the following during the slideshow Part 4 about molar mass.

What is the molar mass of
NaOH?¢
Nais23+Ois1é6+His 1=
Molar of Sodium Hydroxide =
40 g/mol

What is the molar mass of
NH4¢

Nis 14, the 4 H's are 1
14+1+1+1+1 =18 g/mol

What is the molar mass of
SO2¢

32+16+16 = 64 g/mol

Part 4 Lesson 2 Molar Conversions -Complete the notes below as described in the slideshow.

AYorns

Mo\s

(Gvoxms

ov Mo\ecues
- M By
Mul:\"?" LT P

Convery

Us\

.02 \g)&‘-'»

ConvevX

Ush

A\-om‘\c) Molor

MMass

Convert from moles to atoms, multiply the molar amount by Avogadro's number.

Convert from atoms to moles, divide the atom amount by Avogadro's number
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Please convert from grams to moles below

1 mole of water
101 g of water x = 5.56 mole of water
18 gram of water

Please convert from moles to grams below

32 g of 02
6 moles of O2 x =192g0of O2
2 mole of O2

If a scientist wants to know how many atoms are in six moles of sodium...

6.02 x 10
6 moles x = 3.61 x 10?* atoms of Na
1 mole

What's the molecular mass of NasPOa?

3(23 g/mol) + 31 g/mol + 4 (16 g/mol) = 164 g/mol

How many atoms are in 6.2 moles of Al?

6.02 x 1028 atoms Al
6.2 moles of Al x = 3.7x10%
1 mole Al

How many atoms are in 3.5 moles of Tin (Sn)?

6.02 x 108 atoms Sn
3.5 mols Sn x =2.1x10%
1 mol Sn

How many moles are in 90 grams of NaOH? NaOH 1 mol = 40 grams

1 mole
90 grams NaOH x = 2.25 mol NaOH
40 grams
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How many mols are in 10 grams of Nickel? Find molar mass of Ni
1 mol Ni
10 g Ni x =.17 mol Ni
58.69 g Ni

How many atoms are in .17 mol of Ni?

6.02 x 108 atoms of Ni
.17 mol Ni x = 1.02 x 102 atoms Ni
Tmol Ni

Calculate the number of moles in 40 g of CO (carbon monoxide)?
Molar mass of CO=12.01 +16.0 = 28.01 g/mol

Mole
40 gram of CO x = 1.43 moles
28.01 grams

How many grams are in 1.25 moles of Neon gas?
Neon has molar mass of 20 g/mol.

20 grams
1.25 moles Ne x =25 grams
mole

Convert 3 moles of As2S3 to grams. Molar Mass of As2S3is 246 g/mol

246 g As2S3
3 mol As233 x =738 g As2S3
mol As283

« Converting from mass (grams) to moles: Divide your initial mass by the molar mass of
the compound as determined by the periodic table.

« Converting from moles to mass (grams): Multiply your initial mole value by the molar
mass of the compound as determined by the periodic table.

« Converting from volume (liters) to moles: Divide your initial volume by the molar
volume constant, 22.4 L.

« Converting from moles to volume (liters): Multiply your mole value by the molar volume
constant, 22.4L.

« Converting from particles (atoms, molecules, or formula units) to moles: Divide your
particle value by Avogadro’s number, 6.02x1023,

« Converting from moles to particles (atoms, molecules, or formula units): Multiply your
mole value by Avogadro’s number, 6.02x1023,

Part 4 Lesson 3 Subscripts and Coefficients
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Coefficients tell us the number of molecules. (The number of Moles)

Subscripts tell us how many atoms or ions there are within a compound.
Subscripts of 1 are never written — they're understood.

Which are the subscriptse And which are the coefficients below?e
Coefficients of 1 are never written -
they are understood.

Coefficients tell us the number of molecules.

Subscripts tell us how many atoms or ions
there are within a compound.

Subscripts of 1 are never written — they’'re understood

How many hydrogen atoms are in hydrogen

peroxide?
H->0O>

‘H

2 hydrogen, 2 oxygen

How many hydrogen atoms are in 2
hydrogen peroxide?

4 hydrogen 4 oxygen

How many elements are in the molecule
below? Name each one?

A

ﬁ r

3Elemen’rs Hydrogen Chlonne Oxygen

How many hydrogen, Chlorine, and Oxygen

atoms are in 4HCIO42

4 Hydrogen 4 Chlonne 16 Oxygen

ﬁ F
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How many elements are in 2AI2(SO4)3 ¢

‘ Gn | &7 ' 

3 Elements - Aluminum, Sulfur, Oxygen

How many Aluminum, Sulfur, and Oxygen atoms are in 2AI2(SO4)3 2

4 Aluminum, 6 Sulfur, 24 Oxygen

2KCIO; Total Atoms=10 K=2 Cl=2 O=6
6H-0 Total Atoms=18 O=6 H=12

4A1,03 Total Atoms=20 Al=8 O=12

2CesHsO7 Total Atoms=42 C=12 H=16 O=14
6NazCsHsO7 | Total Atoms=126 No=18 C=36 H=30 O=42
3CCls Total Atoms=15 C=3 Cl=12

12HNOs3 Total Afoms=60 N=12 H= 12 O=36




How many total atoms and atoms of each element are in the molecules below. Hint-the
total atoms and atoms of each element when added together need to be the same. Law
Conservation of Matter!

Be proactive and work in your journal in real time to get the answers. These are hard.
— https://www.youtube.com/watchev=PQamMsq79F0

Please view the video for assistance on the first four questions and then you’re on your own for 6-10.
‘m # of Total Atoms | Atoms of each Element ‘

8H:0
3CCl
11Be(OH).
5 (NHz)3PO
H:S0:
Si(HCOs)s
2AI(CO2)s
2HNOs
KMnO:
K2SO4
THsPO:

4Na2COs3

24

56
24

H=16
C=3

Be= 11

Na= 8

0=8
Cl=12

0=22

H= 22
P=5 0=20

C=4 0=12



https://www.youtube.com/watch?v=PQamMsq79F0
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#of Total | Atoms of each Element
Atoms

SAGNO:
Ni(CH:CO2)
INHNO;
004(S0:):
ALICIONH:
4SF>
NCFe(CHCOz)
5NaHCO:

2 Carbon
Tetrachloride
2CCla

2AQ2Cr0Os
Y2 P20s

25 Ag=5 N=5 0=15

15 Ni= 1 C=4  0=4 h=6

16 N=4 0=4 H=8

18 5=3 C=1 0= 14

36 Li= 4 C=4 0=12 N=4 H=12
12 S=4 F=8

19 N=1 Cl=3 Fe=1 C=4 0=4 H=2
30 Na=0  C=0 0=10  H=35

10 C=2 Cl=8

14 Ag=4 Cr=2 0=8

Trick, you can't have half an atom.
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Part 4 Lesson 4 Balancing Chemical Equations

Chemical Change: The change of substances into other substances through a
rearrangement of the atoms.

Balancing Chemical Equations.
This is what happens in a chemical reactions
It describes what you start with...and end with.
It also describes the state of matter of each (s) (I) (9)
It also describes the amount of each.

Balancing a chemical equation refers to establishing the mathematical relationship between
the quantity of reactants and products.

Which are the reactants? And which are the products?

| REACTANTS | PRODUCTS

é-%’/

CO> + 2H>0

CH4 —+ 202

In any physical or chemical change, matter is neither created nor destroyed
Matter can be changed from one form to another.
That means we need to have the same amount of chemicals on each
side of the 2.
For this reason, put a square around the chemical formulas.

NaOH +

Begin balancing chemical equations by putting numbers (coefficients) in front of them.
Example H20 on one side could become 2H20
Remember that each side needs to have same number of Hydrogen and
Oxygen
Note — Don't change the subscript
Example H20 becomes H3O

Please use the provided spaces to balance the chemical equations covered in class.



We'll end up doing this first one twice @)
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2

NaOH

—»

+[H,80,

Na SO,

+ 2

Element riBigfore

After

Na 2 2

0 6 6

H 4 4

S 1 1

H,0

NaOH + H,S0,~> Na,SO,+ H,0

Element | Before || After

Na
0
H

S

1CHa+ 202-->1C02+ 2H20

@NaCl +@ BeF > @NaF +@BeC|z

Element | Before | After Element | Before | After
Na 2 2
C 1 1
Cl 2 2
H 4 4 Be 1 1
0 4 4 F 2 2
An easy one...¢
IMg +{1 Mn203 +->| 3 MgO | 2 Mn
2 Na + Cl2 =2 2 NaCl
\ « The original equation is Na + Cl = NaCl.
Element | Before | After The thing is, chlorine is one of 7
elements that doesn't like to be alone,
so it's always 'Cl2', making the equation
Mg | 3 G Na + Cl, = NaCl.
However, this is no longer balanced.
Mn 2 2 So what you dois add a '2' onto 2 Na,
making it 2 Na + Cl2 = 2NaCl.
Now the chlorine is balanced, but the
O 3 3 sodium isn't.
After that, to balance the sodium, you

add a '2' in front of ‘Na' making the
equation 2Na + Clp; = 2NaCl.
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Please try a

nd balance these two unbalanced chemical equations.

2 Hz +

2 Al+ 3302 > 2 AICI

02> 2 H20

Element Element After
2 Alurninumm b | al,
Oxygen 2 1 ChilorAina 2 3
Inventory Box Inventory Box
Element Before After Element Before After
Hydreogan 2 2 IAlumninumn 2 2
Oxygen 2 2 Chilorfina ® 6

6C02+ G

O H20 = _ CeH1206 + Oz
Element Before After

6 6

12 = 12

18 18

_ +CeH1206 + 6 02 =

Eleme

Released energy + éCOz + EHzO

nt I Before
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ZNaCI +__ BeF2--> ZNaF +__ BeCh

2
Beryllium| Il
Fluorine| 2

Sodium| 2 2 Magnesium

BMg+_ Mn0s -3 Me0 + DM

N wI|
W

Please try and balance these two unbalanced chemical equations.

N>+ 3 H,> 2 NH;

2H2+ 02 2 2 H->O

Element Before After

Element Before After

Element Before After

Element Before After

2Na+ 2H,0> 2NaOH+ H,

" 2KClO;> 2KcCl+ 3 0,

2 NaCl+ F>»>2 NaF+ Cb

4 Al+ 30, 9_2 AlO3

;AI+§HCI —);AIC|3+_3H2

;NHA,NOa > N2 + Q2+ ﬂ'HzO




2 NaNO; + PbO = Pb(NO3)> + Na-O

6 Agl + Fex(CO3)s > 2 Felsz + 3 AgCOg3
CoHLO, + 2 0O > 2C0O,; + 2 HO

ZNSO,4 + LioCO;3 > ZNCO3 + LixSO,4
VoOs5 + 56 CaS > 56 CaOo + VoS5
MN(NO32)> + BeCl. > Be(NO3)> + MnCl,
3 AgBr + GaPO, > AgzPO,4 + GaBrs

3 HSO, + 2 B(OH); > Bo(S0Oy4); + 6 HO
Sg + 8 O, > 8 SO,

Fe + 2 AgNO3; > Fe(NO3): + 2 Ag

1 AIBrz + 3 K > 3 KBr + 1 Al

FeO + 1 PdFz > 1 FeFz2 + 1 PdO

P4+ 6 Br > 4 PBrs

LiCl + 1 Br > 2 LiBr + 1 Clz>

PbBr> + 2 HCI - 2 HBr + 1 PbCl2

CoBrs + 3 CasSO4 2> 3 CaBr2 + 1 Co2(S0u4)3
NazP + 3 CaF> > 6 NaF + 1 CazP->

Mn + 6 HI =5 3 Hz + 2 Mnls

LisPO4 + 3 NaBr > 1 NaszsPO4 + 3 LiBr

- =2 N N N =2 N =2 =

CaFz + 1 Li2SO4 > 1 CasSO4 + 2 LiF

27
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Part 4 Review Game

Name:
1-10 = 10 pts *=Bonus+ 1 ptf, Lesson8 Due: Today
(Secretly write owl in correct space +1 pt) Score /100
Final Question = 5 pt wager
THE SCRIPT THE MORE YOU BALANCNING BLANK STARE NAME THAT
KEEPER KNOW ACT COMPOUND
" Breach
1) 6) 11) 16) *21)
1 mol = 6.02 x Al2(SO4)3 C.) Shows the | _ Fe20g3(s) + Flubber
1023 increasing 3CO(g) 2> 2
Also called |2 Aluminum, 3| amountof |Fe(l)+3
Avogadro’s Sulfur, 12 products CO2(g)
number Oxygen compared to
reactants.
2) 7) 12) 17) *22)
1892.8 a/mol |C.) CH3COOH | A=Reactants |2 NH4sNO3 > 2 Oobleck
B=Products |[N2+__0O2+4
H20
3) 8) 13) 18) *23)
Multiply B.) H2CO3 Created or |_ SiO2 + 4 HF Fun Dip
Divide Destroyed 2> _SiFa+2
+1 Owl H20
4) ?) 14) 19) *24)
.15 mol Answer 15 False, Don't | 2 H2SO4
Nickel= 1 ever do that. | +__Pb(OH)4 Dinosaur
Carbon=4 | That thing, just | >__Pb(SO4)2 Eggs
Oxygen=4 don'tdoit... | +4 H20
Hydrogen= 6 I'm serious!
5) 10) 15) 20) *25)
Subscriptis | A.) CéH1206 2As + 6 NOOH |2 N2(g) + 5 Phish
blue -> 2NasAsO3 + | O2(g) + 2 H20 Food
Coefficient is 3H2 24 HNOs3 (aq)
red

Final Question Wager /5 Answer: 3 Hg(OH)2 + _ H3PO4 - 2 Hg3(PO4)2 + 6 H20
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